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Functional Description 

FOUR TRANSISTORS (FTX-1C) 
MODULE PIN 841597 

The Four Transistor, FTX-1C, module consists of four single transistors with the individual base, 
emitter and collector leads terminated at specific pins. The four transistor module offers the cir­
cuit designer uniformity of circuit packaging as well as flexibility in application with other SLT 
modules. 
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Maximum Ratings 

IE = 50 milliamps 

FTX-IC Test Conditions 

INDIVIDUAL DEVICE PARAMETER TESTS 

T 
TESTS TEST CONDITIONS 0 

C MIN 

ICEX VCE = +1 3V ,V'SE = ;{).35V 75 

ISEX VCE =13V,VSE = - 2.5V 75 

SV CEO IC = 5 me 25 10 

SV ESO 'E ::: lO}olc 25 2.5 

SVCSO Ie :: 10J.lo 25 15 

hFEI 'E ::::' .lmo, Ves ::: D.OV 25 10 

hFE2 IE ::: lma, Ves ::: O.DV 25 25 

hFE3 IE = lOme, Vcs = O.OV 25 30 

hFE4 IE = 50me, VCS = O.OV 25 25 

VCEI (.,t) Ie::: lma, 'e ::: 0.05 rna 25 

VCE2 (.,,) Ie ::: lOrna, IS ::: 0.50 rna 25 

VCE3 (.,t) Ie:: 22mo, 's .:: 1.2 me 25 

VCE4 (.,,) Ie ::: sOma, Ie::: 2.5 rna 25 

VSE I (.,,) Ie::: lma, 's ::: 0.05 rna 25 .60 

VSE2 (." IC = lOme, IS = 0 .50 me 25 .70 

VSE3 (sal) IC = 50me, IS = 2.5 ma 25 .85 

VSE (ON) Ie ::: I.Orno, Ves ::: +-J.DV 75 .50 

Cib OV BIAS f = 1 ± 0.5 mhz 25 

Cob OV BIAS f = 1 ±O.5 mhz 25 

/GAIN/ IE::: IOma, Ves :: 3V, fR~ =l~;hz 25 1.5 

t'l Ie ::: lOme, ISON = .33ma 
See Fig' 1 

25 

hie Ie = 5.0ma, VeE :: +5V, f ::: 1 khz 25 0.10 

h
fe2 Ie :: l.Oma, VeE = +5V, f :: 1 kh z 25 20 

h
fe3 Ie :: 5.0mo, VeE :: +5V, f ::: I khz 25 30 

h.t, IE ::: 5.0ma, Ves ::: +5V, f :: 1 khz 25 0 

hob IE = S.Oma, Ves = +SV, f ::: 1khz 25 0 
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Z.Opf IOpf 

FIGURE 1 

LIMITS 

MM 

20 

10 

0.22 

0.24 

0 .32 

0.40 

0.75 

0.85 

1.1 

6.0 

6.0 

250 

2.0 

ISO 

250 

1.6 

2.5 

UNITS 

"0 

"0 
V 

V 

V 

-
-

-

-

V 

V 

V 

V 

V 

V 

V 

V 

pf 

pf 

-

n, 
KO 

-
-

xlO-3 

,101 mho 

tr ;5'; 2nS 
Vo = -1 .38V 
"8B = "CC=+3.0V 
RC :: 30011 

RI = RZ=3.3K 


